(2201)
B.Com. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of Second Year)
Part II — ADVANCED ACCOUNTING - II
Time : Two and half an hours : : Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following questions.
1.  What is Hire Purchase System? Explain its features.

&R £%50R %0 DD BIMTI? TR O5ET0 DHBoHH.

2. State the differences between capital expenditure and revenue expenditure.

0TGN DFOSTTOO 20Bcfn Trad Sgairet Dogs Ko Brrew BOOHAW.

3. Explain the limitations of single entry system.
2063 HE DTPH0 Y, SreR0 HHBOHHN.

4.  What are the features of dependent branches?
espeB [erode O5eTren Har

5. What are the differences between debentures and shares?

EBoDHBE 2BAKL Trered DGy He SyErgden JD?

6.  Explain the underlying principles of Garner Vs Murray Case.
B Vs 5000 TS soeiy /K8y 258035m.

SECTION B — (5 x 10 = 50 marks)

Answer any ONE of the following questions from each Unit.

UNIT 1
S From the following transactions ascertain net profit and prepare final statement of affairs.
Particulars Opening Closing
Rs. Rs.
Debtors 40,000 60,000
Creditors ' 30,000 35,000
Stock 50,000 45,000
Prepaid expenses 1,000 5,000
Outstanding expenses 3,000 4,000
Bills payable 6,000 8,000
Bills receivable 4,000 -
Cash 800 200
"Bank ' 3,000 2,000
Furniture 1,000 1,500
Machinery 10,000 12,000

Additional capital Rs. 3,000; Drawings Rs. 10,000.



(508 ddTre egrdorr DEY ergrd) HwRod) SHItse TDBEL BATEHDALOE.

DdTren dos  SRoP

4. 8o,
208|/f)en 40,000 60,000
20EITTEHED 30,000 35,000
DK 50,000 45,000

200807 Do PEen 1,000 5,000

DoBHeVD PBnen 3,000 4,000
2803 Denen 6,000 8,000
Ddreen BDeven 4,000 =
B8] 800 200
erg0L0 3,000 2,000
58955 1,000 1,500
afo@ren 10,000 12,000

&5 Dredno 80, 3,000, rosardisten 8. 10,000.

On 1% January, 2009 Sharda purchased a machine from Kusum on hire purchase basis. The
particulars are as follows :

(a)
(b)
(e)
(d)
(e)

Cash price Rs. 10,000.

Rs. 4,000 to be paid on signing the contract.

Balance in three instalments of Rs. 2,000 plus interest.
Interest charged on outstanding balance at 5%.

Depreciation at 10% p.a. on Written Down Value Method.

Prepare Ledger Accounts in the books of purchaser.

2558 1 2009 Ared F8H DD 2008 2.8 aboRy e §TR0R"en DES P TR enBIHE. ddoren 808 agorr

é“aaam).

(a)
(b)
(c)
(d)

(e)

SKE &8 6°. 10,000

&oe. 4,000 éS\sa 380

DRHE 3 Tromren Tronee 1 8 2,000 800 $08akn 56 50
&8 20080 P 3¢ 5% 88,059

BB Hond 10% BOBOY) dege ‘:Jg@;g GIDTRD SHF PT O SR ooty Zg)“_’ro”s“e:é‘ WIHa.
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UNIT II

Crown industries, Mumbai has a branch at Madurai to which goods are invoiced at cost plus
25%. The branch makes sales both for cash and on credit. Branch expenses are paid direct
from head office and the branch remits all cast to head office. From the following details
prepare the necessary ledger accounts in Head Office Books to calculate branch profits as per
the stock and debtors system.

Rs.
Goods received from head office at invoice price 60,000
Return to head office at invoice price 1,200
Branch stock on 1.1.2008 at invoice price 6,000
Cash sales 20,000
Credit sales 36,000
Branch debtors on 1.1.08 7,200
Cash collected from debtors 32,000
Discount allowed to debtors 400
Bad debts in the year 600
Goods return by debtors to branch 800
Rent, rates and taxes at branch 1,800
Branch office expenses 600

Branch stock at invoice price on 31.12.2008 12,000
B000emoS D 350 aoééﬁ;’i—ﬁ, 2GVS” (20D HoB BB (27008 D $8 o0 25% KD SoHHos.
oD BB HADH, BDH ehuyHod. Erod PENOR WwE e e 3Yoos. Erod BB
& B0RE H0HB08.

2o8 D500 200 HE — wes|ide ,”Jge:’éﬁs 6 eshio D50 groren BITSod.
&,
& e 2009 |EroSe HDYS B (@Rrgonw $8) 60,000

W6 SHDLH THH BDD B (ATgeD $8) 1,200
[©70S B 1.1.08% (Rrrgond &%) 6,000
RIS evdyso 20,000
A ECRVED 36,000
(o awefien 1.1.08 % 7,200
2080 0D Ddren 32,000
o erden 400
2OIERRVOL G708 600
20080 Hod THW 800
Eaie] o3, '6&1‘_3,, S0 1,800
[0S e300 PBen 600
(B0 $8E 31.12.08 ([RP000 $8) 12,000
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10. A Firm has two departments X and Y. Department Y (Which was a manufacturing
department) received goods from department X as its raw materials. Department X supplied
the said goods to Y at cost price. From the following particulars, you are required to prepare
a Departmental Trading and profit and loss account for the year ended 315t March. 2009.

: Dept. X Dept. Y

Rs. Rs.
Opening stock (as on 01.04.2008) 2,50,000 75,000
Purchases (from outside suppliers) 10,00,000 20,000
Sales (to outside customers) 12,00,00 3,00,000
Closing stock (as on 31.3.2009) 1,50,000 50,000

Following information is to be taken into account.

(a) Depreciation of Buildings to be provided a1; 20% p.a. The value of the building
occupied by both the departments was Rs. 1,05,000 (Department X occupying two
third portion and department Y occupying the rest)

(b) Goods transferred from Department X to Department Y Rs. 2,50,000 at cost.
(¢) Manufacturing Expenses (of Department Y) amounted to Rs. 10,000

(d) Selling Expenses amounted to Rs. 15,000 (to be apportioned on the basis of sales
of respective departments)

(e) General Expenses of the business as a whole amounted to Rs. 58,000.

28 H09&® X 8a Y &3 Boy dgrmevmnon. Y &&)® daro. e 258 Snd Songo dgro X

3000 5008. dgrio X & SHHH Y ©H eben S8 S0HHE08. 808 e 2000 dgrTre SEEY), evdl
S3pe gree 31.03.2009 & eomindlyg Soud o5 Sahod.
derfo X derKo Y
GO &,
et08 5K 1.4.2008%  2,50,000 . 75,000
Eoffen (adte 209)  10,00,000 20,000
ey Yo (aBthen) 12,00,00 3,00,000
S0RoP B (31.03.095  1,50,000 50,000

1808 Sarorory) K 85,68 S8,

(a) @5Trep HLHGe Sond 20% Jomen DBared. Bodk JgrTTren, Gy Fomre Dewd 8. 1,05,000. X
Derlo -{%:ﬁoém Y 2o % Do e31E0WETTO.

(b) 2grKo X do0d derio Y £ w8 eond St eden §8 8. 2,50,000.

(¢) Y 2erity a8 Pty 8=, 10,000.

(d)  enysd vy 8. 15,000 (ebyid d5aS° 2420m-0)

(e) gy tpen 8. 58,000.
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UNIT III

11. From the following Trail Balance of A club prepare income and expenditure account for the
year ended 30" June, 2009 and a balance sheet as on that date.

Dr. Cr.
Rs. Rs.
Annual subscriptions 15,000
Entrance fees (to be capitalized) 5,000
Sales of Tickets of Entertainment 3,000
Interest on investments 400
Printing and stationery 7,200
Repairs 2,300
Cost of Entertainments 1,400
Sales of Tickets for annual dinner 1,750
Newspaper . 1,500
Hire of Hall 3,500
Profit on sale of liquors 2,350
Rent and rates 2,250
Salaries 4,750
Interest on Bank Deposit 500
Cost of Annual Dinner 1,300
Receipts from billiards ‘ 4,500
Auditors fees 400
Cash on hand 600
Cash at bank 4,500
Fixed deposit 10,000
Sundry creditors ' 2,800
Investments 9,000
Library books 6,200
Furniture 9,500
Liquor closing stock 4.200
Capital Fund 26,300

65,100 65,100

2.8 §25 G%); eoser 30.06.2009% o8 Do &od. TR SSfehos 30.06.2009 &° es:oéfs;‘)adi)zs Sond esgeohd
S50iT0 e e BB S el wpe PR B> Dood. ‘

" Dr. Cr.
. &
Homren 15,000
3R (SaroubEBomd) 5,000
58e55) Hareed 3,000
Deguool 3G 400
Soo|es PRdS 7,200
SosaoHen 2,300
DTS BN 1,400

5 (2201)



12

DENES RIS
JBEL How®
Ihen @EOS

0%,6 eemégoess &80
&, Bew

Seren

&5 p 5
&b&d) PEN

BBE Y
3365 HE

JAS® DN
SIS (A
Goe2eS
2008THeD
WepAcEI)
DRSTED

$8)8

9%),6 SoRoy deg
20D DY

From the following particulars prepare income and expenditure account :

Subscriptions collected

Dr. Cr.

&I, [ 1
1,750
1,500
3,500
2,350
2,250
4,750
500
1,300
4,500
400
600
4,500
10,000
2,800
9,000
6,200
9,500
4,200
26,300

65,100 65,100

Conveyance

Rs.

2,800

(Including Rs. 3000 on Account of last year) 28,000 Purchases of books and periodicals 3,000

Subscription for the year outstanding
Salary paid

Salary outstanding

Entertainment expenses
Tournament expenses

5,000 Rent

2,400 Postage and telegrams
400 Printing and stationery
500 Donations received

1,000

208 2HTPen B0 e Sgo8°e P L Ol Toybate binTevhlelast

DY Dorren

8. &,
[Basred gy 2,800

K& Soidon Do 8. 3,000 & 53¢ 28,000 Hsee §50R%ew 3,000

TPHRD Womrey ([ Jonds
Doren Yo

(5308 SoiRs DYovHedD Bo
2365 P

¢5°ER0e0 B

@ ™
2,400 2632, @@LWSJJ 1,700
€
400 5301560 25):%?68 500
500 59y5 aoeso 800
1,000

1,200
1,700
500
800
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13.

14.

UNIT IV

A, B are the partners sharing profits in the Ratio of 3:1 and their balance sheet is given
below :

Liabilities Rs.  Assets Rs.
Creditors 37,500Cash 21,500

Reserve  4,000Bills 3,000
recelvable
Capital 30,000Debtors 16,000
A

B 15,000Stock 20,000
Furniture 1,000
Byildings 25,000
86,500 86,500
(a) “C’ has to bring Rs. 10,000 as capital for 1/5 share in future profits.
(b) The Goodwill of the firm in valued at Rs. 20,000.
(¢) Depreciate stock, furniture at 10% and provide 5% for reserve for bad debts.
(d) Appreciate buildings by 20% show necessary ledger accounts and balance sheet.
2 20800 @ griuen 311 DRHBES® erwred SomE owrth. 6 &Y epe 58 (208 dgor HYB.

€950 &oe. eS80 obih
awamrHey 37,500 SHS 21,500
Bestg 4,000 Ddoren Dew 3,000
DoTredsaren 208 (e 16,000
Q 30,000 20,000
) 15,000 $83%b 1,000
gBooren 25,000
86,500 86,500

1B08 SEE0E" TP DR DED0LVTHE.

(a) 1/5 % Hod Trerd D Dorresdore 8rv. 10,000 dard.

(b)  Sog &S 3. 20,000 11 G008

(c) HD, 56)36 10% BRod, oerde DG 5% &od.

(d) gonre deg 20% woTrd. @b‘ééﬁb_g_:é rEren, esg)n 5P b%m:ﬁo Srsod.

The following was the balance sheet as on 31¢t July, 2009 of the firm of Arun and Aditya who
were sharing profits and losses in the ratio of 3:2

Creditors 97,500 Land and Building 30,000

Capitals : Motor Vehicles 18,300
Ryin 77,500

Aditya 58,000 Stocks 72,800

General reserve 12,500 Debtors 90,750

Cash 33,650

2,45,500 2,45,500

The partners decided to dissolve the firm on and from the date of Balance Sheet Motor
vehicles and stock were sold for cash Rs. 16,950 and Rs. 77,600 respectively. All debtors
accounts were realized in full. Aditya took over the land and buildings at an agreed valuation

of Rs. 43,500. Creditors were paid off subject to a discount of Rs. 1,700 expenses of realisation
were Rs. 1,250.

Prepare and close the Realisation Account, Cash Account and Capital Accoutns of partners.
7 (2201)



15.

16.

&9%35, &5&3@5 erdf XJ;E@:\’» 3:2 :J;’g)egé* SOWE0LVTYD. =8 &9?1_; PO ;’)é 31.07.2009% (808 d&ore Hol.

20EITTEED 97,500  gdmren 30,000
Barredsren i T 18,300
oS 77,500
CSIALN 58,000 Hs%H 72,800
Bestog 12,500 2ea|Ren 90,750
STalat) 33,650
2,45,500 2,45,500

2 B85 Fop 5L DAHSOTE. TTTOR, HWOR SR . 16,950, 8. 77,600 oH ebdyso .
aea|fue 00d Jrdr SHrreanod. el FiTred 8. 43,500 O e%éasimac‘,éo. pwnrded dir. 1,700
&ir,0¢58° Do), I8, Y B 87, 1,250 583,68, Sycih HBakn Soreds greres Brtod.

UNIT V

On 01.03.2009 X’ Ltd., makes an issue of 20,000 equity shares of Rs. 10 each payable as
below. On application Rs. 2; On allotment Rs. 3 and on first and final call Rs. 6 (three months
after allotment) Applications were received for 26,000 shares and Directors return money to
the applicants for 600 shares. And made allotment for the remaining one share holders who
was allotted 40 shares paid 1% and final call with allotment money and another shares
holder allotted 60 shares did not pay allotment money on his shares but which he paid with
the 1% and final call. Directors have decided to charge and allow interest, as the case may be
on calls in arrears and calls in advance respectively, according to the provisions of table ‘A’
(on all calls in advance 6% p.a. on calls in arrears 5% p.a.) Write necessary general entries in
the books of the company.

01.03.2009 % X OBE 20000 S8 wrerory, e 18 & 10/- T9pd 808 dghwre wrb3H8.
B8g708". 8. 2/-e0 BeranoPHE G, 3/-e0 eHE’ 6. 6/-e0 (SeranoHH 3 doo BHTB) Ko
&3, 26,000/- e Treres® SEarRuen oo, B 600 Trerody SSrOR TPH 502 2ORED B8 Treredd
Bero0Trdd. 40 Toeren TeronoBRdd a8 TeImRD Devd) R BLranod) Re08” Jren DdoTred. 60
Teeren Mo DEE Ter T B Teren Teranod) s Dend Auys’ e IYoTr. FBLE Jwokorr
SO0 DeHOPD DeHE®, aston PP 3G B 08 ST, (Saud ‘A’ 95°50) Do HBYD DevHe P DHod
BT°RS 6%, DLVHO WSO PD 5% Lowd HISS” deg Sees @rabod.

Journalise the following transactions at the time of the issue and redemption of debenturs :
(a) A debenture issued at Rs. 95, repayable at Rs. 100

(b) A debenture issued at Rs. 95, repayable at Rs. 105

(¢) A debenture issued at Rs. 100 repayable at Rs. 105

(d) A debenture issued at Rs. 105 repayable at Rs. 100.

Note : The face value of each debenture is Rs. 100.

808 Hytore GBoBEL arbI ey, JBTHH DeGpey DerHEe orabo.
(@) =¥ GBoBntd &, 95 © 8 DD, 6r°. 100 X IBIDHH DI

(b)  a¥ &BoBLH &m. 95 © w8 3D, 6. 105 £ JITSH Baethd

(c)  nt BB 6. 100 & arB 3, &, 105 & i DR

(d) 2% &Bodtd 8. 105 & &8 B, &°. 100 & IDDD Danthd

KS00% : 98 &Bowdhd H|88 dens 8. 100
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(2203)
B.Com. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of Second Year)
Part Il — TAXATION —I1
Time : Two and a half hours ' _ Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)

Answer any FOUR questions.
1.  Progressive Vs Regressive taxes.

DB R BE R Sdgen.

2. Explain the salient features of taxes.
DY) B 05O HHB0HH.
3. Explain various deemed assets.

DD Bsre el es‘@po;éo DHBo.

4. Explain the various exemptions from C.S.T.
C.S.T 5¢065°0 22 8570 0900 YHORL DHBOHD.

5.  Explain the features of VAT.
VAT &g, ofgrosn 258090.

6. What is the service tax? Explain the sale and charging of service tax.
e S0y BIMTI? WHOD DH0D DY) Bend HHBoWH.

T. Self-assessment.
RSAD 30y dTe.

8. | Explain the difference between Bill of lading and charter party.
DS 3D erGoh SoBafn avgs awée g5 Bgmegoo 9H5BoHaHw.

SECTION B — (5 x 10 = 50 marks)
Answer any FIVE questions choosing at least one from each Unit.
UNIT I
9. How do you determine the residential status of an individual? Explain with an example.

D& 558 DT BB DO AYaWoEE® SErEeHNes” 9580HHn.

Or

10. Explain the provisions regarding exempted assets according to wealth tax act.

DL 5y HEI0 (S50 WHTFOWOHTT AHGE BV HHT°OR BAALBKODL.



11.

12.

UNIT II

Mrs. Bhargavi is working in Government of Andhra Pradesh as inspector of school,
Department for education since 1st October, 2009. Her salary particulars per month are as
under :

Basic pay Rs 8,000; D.A. Rs. 5,400 C.C.A Rs. 800; H.R.A. Rs. 1,200 (She is living in her own
house). Contribution to Pension fund by the employee is 15% of salary and 10% by the
government. She paid Rs. 1,000 towards professional tax. Compute income for the
assessment year 2010-11. -

808 58D oSBT (HELEHNS’D dory TS 1.10.2009 H0d &6 DADYB. eI B0, 2550
DHEH0EL (S8 SIPHHHH S+ (208 dForr Ko,

SoreBessn 8. 8,000, K0 450 8. 5,400, HKE DSBS v, 800, ol e #Eg0 v 1,200
(526 8 ot KyTos® pHBORIBIYG) F5DLHB VHS BB B ey 15% BBABY. 2B ([HEOBO
10% BoRB0HB. 2% 9By FEO 7. 1,000 oD, 2010-11 359 DTFes S JNBO STADID
Keass Dok,

Or

Sri Vijay Vardhan is owning two houses and from the following particulars, compute income
from house property.

House 1 House 2
Municipal rental value 1,25,000 1,50,000
Rent of similar building . 2,75,000 2,10,000
Standard rent ' 2,00,000  2,40,000
Actual rental value 1,80,000 2,25,000
Municipal taxes 18,750 ~ 22,000
Interest on loan taken to construct the house 50,000 14,000 -

& DA DYSL Bock 0 KHTrinen o). BIOD AP DHBH0e B00G MyIFe $00d eTPaHHN B8),08050.

Kyrdo-1 A2

DEFOE Jo0D BPIe0S 1,25,000  1,50,000
00230 eBDend . 2,75,000‘ 2,10,000
TS QIO 2,00,000 2,40,000
THERH ePoevD 1,80,000  2,25,000
DL BoP Sdyen 18,750 22,000
KyrRoyeseg R edppsg 50,000 14,000
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UNIT III

13. Sri Murali is the owner of a business. From the following Profit and Loss Account compute
income under the head “Profits and gains of Business”.

Profit and Loss Account For the year ending 31st March, 2010

Particulars Amt Particulars Amt

To Salaries 33,000 By Gross Profit 4,05,000
To Proprietor’s salary 10,000 By Rent : 50,000
To Taxes and insurance 5,200 By Interest on Bank deposits 10,000
To Advertisement ) 55,000 By Dad debts (out of this
To Lighting 11,100 Rs. 3,000 is disallowed earlier) 5,000
To Cost of goods given under By Export incentive received 37,500

warranty claims 7,600
To Life insurance premium 3,200
To Bad debts 2,500
To Provision for doubtful debts 3,000
To Interest on loan 16,000
To Interest on Capital 8,000

To Penalties for violation of

Sales tax provisions 5,000
To Depreciation 18,000
To Net profit 3,30,000
5,07,500 5,07,500

Additional information :
(a) Depreciation allowed as per LT. Act is Rs. 15,300.

(b) Advertisement expenses includes Rs. 25,000 paid in cash on the last day of accounting
year.

(¢) On the last date of the accounting year the cashier reported a cash shortage of Rs. 200.
and stock verifier found a shortage of Rs. 500 worth goods.

(d) The Assessing Officer found a valuable item of gold worth Rs. 1,00,000 at the re31dence
of the assessee and explanation for source of funding is not satisfactory.

(e) Lighting expenses includes Rs.2,000 towards electricity generating expenses.

() For achieving the sales target he received a motor cycle worth Rs. 45,000 as gift from a
supplier.

(g) Interest on loan includes Rs. 3,000 interest on loan taken from w1fe out of her
‘Stridhan’.

3 (2203)



B 208d 28 Tges POPE AEBID. BIODHVD ergdpe o JEaHo8 TGroo 00G esTraDHnD

aébomm 5

31 578 2010 &° eossdly Sond ergdrosree

DDT0e0

To Szren

To ofesdord 2o

To iy 208as0 Hare

To (H%e0id

To 8e3oh

To 580 (375063) SonHreH

RO Se PBL &8

To B0% Hdo~ HAaDHo

To o-derSen

To SosairaEas erfeodd

To espep ;‘)é

To Boregsop 5

To 589 58y5e06™
RADHITIY GYONDE) esBd T

To &rH&e

To R)gﬁﬁ)“ajo

€93 APHdoen :

33.)620
8. o6°

33,000
10,000

5,200
55,000

11,100

7,500
3,200
2,500
3,000
16,000

8,000

5,000
18,000

3,30,000

5,07,500

DHBD0en nBo
8. o8
By S ergo ' 4,05,000
By &3 | 50,000
By ersoH G960 9& 10,000

By oroero sirwy) (5836° . 3,000

HB0S® LB B0BEBED) 5,000
By 10208 @remysrseen aggB8000 37,500
5,07,500

(a) eTrabY IV Bgo (S5°50 eBIoIES HEOIHE . 15,300.

(b) K& SodBBoS™ 098 % 8. 25,000 1t Br506° on (SEe LNV LoD,

(c) - KB JodBo 9B Gard Horan HHWS® Erv. 200 HENYHT HYew DB HHHOM HOH Dot 58

870, 500 Dendie SEEd BE) DM &) BOHD .

(d) Shy ddes ©s°B K. 1,00,000 devdite woredd esgersnes ea?on)?o“) DTFANS® Gene EHRIN. 8D

§P0R’ 03 DEve DEGE e RoyHEsorT B,
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14.

15.

(e) B3R NS’ 8. 2,000 dEgEES GEmES SV KO

0 Dy eNel IS O APodHOEO L [EHTTEER ood dov. 45,000 dendie Iorertd 2E8S
SPR0ETT DPOBR.

(@) egpp D000 HES® &, 3,000 grs M08 BrotR e 5§ Ko, €S B | $0 B0l eRp A,

Or

Mr. B. Birla owns a building which is used for producing plastic good. He purchased the
building for Rs. 2,00,000, in the financial year 1982-83. During the previous year relevant to
the current assessment year through an ordinance the government has acquired this
building and paid Rs. 24,00,000 as compensation. Immediately he acquired a piece of land for
Rs. 3,50,000 and spent Rs. 4,80,000 so far on construction and deposited Rs. 90,000 in the
bank, under capital gain scheme. Calculate capital gain, if cost inflation index for 1982-83 is
109 and 2009-2010 is 632.

B B Rrodydsn AR amnc. B0 FFE Supe BArBE TediTn. @f8 Soddto 1982-83 &°
He 255550050 87°. 2,00,0005% §%0R e Dabadn. s 38y Eleidel 20118 [SoofB K JodETo |H3LEBgo al
(SBgERD By o 6. 24,00,000 [HBF0D0 3god S FHIB000 B HEOBETDD). &3 HEHSO e
&5 3,50,0000% #0200 §° §i5% DU . 4,80,000 D2)oBH B argoHS” 8. 90,000 Leywd
ergre SSE0S" e B, begnd erote D0k, S ((Tey Srd Sowy 1982-83 & 109
0805w 2009-10 &° 632.

UNIT IV

From the following Particulars, calculate Input tax Credit
Particulars Amount  Rate of tax
Input :
Key Boards 85,000 3%

Floppy drives 1,00,000 4%

Mother Board 2,00,000 2%

UPSs 1,00,000 4%
Monitors -2,00,000 5%
Mouse 50,000 3%
Output :
Computers 10,00,000 8%
Laptops 2,00,000 2%
5 (2203)



16.

17.

18.

54 808 SATT0 S00d dEmes 95y (Input) B&eSH: B& ooz,

SHe 2o 93y Bew

Input :

85° 85,000 3%
2O @S 1,00,000 4%
06655 2,00,000 2%
af0.2.008 1,00,000 4%
DR 2,00,000 5%
Eac 50,000 3%
Output :

Sogrgely 10,00,000 8%
erDerd) 2,00,000 2

Or

Explain any ten Items which are fully exempted form Income tax.

5:59) 9008 FBI® WHTFa0BWES BTPOLreH) JPT IB 5B0BH.

UNIT V

What are the customs valuation Rules?

£380) TGRS rd) 9:5809HH0.

Or

What is service tax? Explain the procedure for valuation of taxable services.

Ve Sy BRTRI0? DTSRy 88,09 SR BeoHhwn.
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(2606)
B.Com. DEGREE EXAMINATION, MARCH 2012.
(Regular) |
(Examination at the end of Second Year)
Part II — BUSINESS STATISTICS
Time : Two and a half hours Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following.

Each question carries 5 marks.

1 Statistics is an Art or Science.

Kearo¥ FoH0 Eoo S TR,
= =

2.  Explain the methods of collecting secondary data.
PRS0 SHOTINM DEBOD DDE SEBOD 9HB0BBW.

3.  What are the special uses of geometric mean?

HOEIBILSFH0 GE), 15B5E SBGATTren JAE3?

4.  What is correlation? Explain different types of correlation.

REPR0I0E0 IRITRA? AL B5Pe RTH0205°0) DHBOWIBW.
5. What are the limitations of Index numbers?

Bed o SB82EBD?
6.  Explain the various methods of measuring trend in Time Series Analysis.

srofEene T35eS” (S8 59D 204 HEBoeD0 DHB0BIB.

SECTION B — (5 x 10 = 50 marks)
Answer any FIVE questions selecting One question from each Unit.
Each question carries 10 marks.

UNIT I

i For the following particulars construct rectangular in terms of percentages.

Be 8BS DST0K ToEre BI50eST ag SEoFeen R)Béof.)dd‘..

Items of Expenses Totsl incoe
PN wozre A B c D E 2080 BTHAo
Royal Family

kot T 2000 720 200 480 320 280 4000

Payal Family

e S 3000 720 300 600 600 480 6000



8.  The following are 5 years sales of Lakshmi traders based on the data draw a simple bar

diagram

He BNHD 03&565‘3 78 eyseo 5 SoneH FHGWETON. Fe HHT°© esrorT FprSes erd ey Rofod.

Year:
- 2000 2001 2002 2003 2004
roo;’)é“-)tﬁo
Sales :
edyse 200 325 410 300 250

UNIT II

9.  From the following frequency distribution calculate median.
BrOD 3D DDV DeTresdB HBooG SodSgErR) ngo{)o&.

Class interval  Frequency
HBOKSG evoBBDD D250

0-10 10
10-20 15
20-30 26
30-40 30
40-50 42
50-60 31
60-70 24
70-80 15
80-90 7

10. From the following particulars calculate Mode.

He BIOD DH0°0 0G erRTRTE0RD Heard Dood.

Mid value: 20 50 80 110 140 170 200

S'JJC.SES DEVD

Frequency: 8 12 43 49 16 10 7
av:ési.é)?béo

UNIT III

11. From the following wages of the workers in a factory find the range.
28 S0y oS 280 oo B0 IR K9 Baod.
Wages : 0-5 5-10 10-15 15-20 20-25
D850

Number of workers: 18 22 30 25 20
S“B&?IJE) ‘.-60&)5

25-30

15
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12.

13.

14.

15.

From the following frequency distribution calculate Bowley co-efficient of skewness.

BIOD D20y DErEHHNHL &°® o Moeagdno Kedodod.

Class : 10-19 20-29 30-39 40-49 50-59 60-69 70-79 80-89
BHEND
Frequency : 5 9 14 20 25 15 8 4
r8HZ0

UNIT IV

From the following information find out Karl pearson’s co-efficient correlation.

BI>D D507 STRBOMT SES DAHEYS BEA (I5°0 SIRowots HEsoRd 858708

Class :

SEXSD 795 860 45 30 15
Frequency :

oe50 150 175 200 225 250

Find the two regression lines from the data :
BI0D Soroto H00& Botd (DA HDESETOR HRT0H0

X: 1 2 3 4 5
Y: 11 20- 17 25 27

UNITV

From the following information construct index numbers for the year 2005 by taking 2000 as

base year on the following methods.
(a) Laspeyer method

(b) Passche method

(¢) Dorbish- Bowley method

(d) Fisher ideal index method.

BKSDoDHED DSTreE 2000 Hoid esgrd Sodsysore &8 2005 soerd8,

: 9, o
(a) erananb age?

B e
(b) A 5gS
(c) waafx-— 378 558

(d) 38 et Sod Doy Setoe T BIdPoRgRo RGowod.
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16.

Commodity
DD

SR

VA

Year 2005

2005 SHon

Price Quantity Price Quantity
8350

Year 2000
2000 Son
&8 S830es0
20 8
50 10
40 15
10 20

(o]
40
60

50
20

6
5
15
25

From the following data find the seasonal variations using the method of simple averages :

(808 seroso Huod RPRBIRg D116 SES T BINONOE DBBETR ERHIHL.

Season/Year Summer Monsoon Autumn Winter

1998
1999
2000
2001
2002

30 80

35 105

40 - 150

60 170

65 200
4

60
90
100
130
140

120
170
220
235
300
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(2602)
B.Com. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of Second Year)

Part Il — INCOME TAX PROCEDURE AND PRACTICE

Time : Two and half hours Maximum : 70 marks

b2

10.

SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following questions.
Write any five features of tax.
iy g, B D OFETORY FraRD.
Explain Allowances and Perquisites.
gaen 28050 aaeagem 25B0HB.
Explain Municipal Rental Value and Fair Rental Value. |
B3 @ Devd 2B AINEPD & IR 25B0YHIW.
What are the deemed profits under section 417
2ES 41 (F5°60 £rDB ergred A7
Write a short note on long term and short term capital assets and gain.
B8s°98, Jgys~08 Depwd egyen HBcID erEred B0& au¥ o gy PN,
Write a short note on Individual Income and Family Income.

5581 esrraioo HoBako 56002 BTN P DS 2.8 O Ty EPOIVHN.

Incidence of tax.

;3:\’1:& DB0D). f

Rebate of Income tax under Section 88.

2ES 88 208 esrraD) D3y BEew.
' SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit.

UNIT I
Write about various income tax authorities and their powers.
eTrob) Sy ©8se KB Lboky =0 @S0 K8y PR,

Or

Mr. Rajmohan an Indian Citizen went to London for business purpose on 8th July, 2009 and
came back to India on 25th March, 2010. He was never been out of India in the past.
Determine his residential status for the assessment year 2010 — 2011 as resident or non-

. resident.

& CEArsS Es St Bk T MNEY 8 57, 2009 % ©0ot5% 3 BOR FrEEBIINID 25 3r0),
2010 SBY0. B8 KESNE® Il HBFZ0OLH GBeo. 2010-2011 Sy dpdes B0SBYo°R08 LB VTN (9
58 DR Bo° VTR SR TE BHoHAALIDD.




UNIT II

11. Mr. Sahadev submitted the following particulars of his Income. Comment on the nature of
income and calculate the income from other sources:

(a) Dividends received from X company limited Rs. 19,500. |
(b)  Royalty from books Rs. 20,000 and the cost of preparing the manuscript Rs. 3,100.
(¢) Interim dividends received from Y company Limited Rs. 8,000. |

(d) Rent froh agricultural Land Rs. 50,000.

(e) Rent from open land Rs. 45,000 and municipal tax paid on that Rs. 12,000.

(f)  Rent from building Rs. 36,000; municipal tax paid Rs. 3,600; repairs Rs. 800.

(8) Rent from subletting a house Rs. 48,000 expenses on subletting Rs. 500; Rent payable ~
on sublet house Rs. 12,000.

(h) Income from agricultural Land in Bangladesh Rs. 75,000.

(i)  Interest on deposits in the bank Rs. 26,000 and the bank charges debited in the account
are Rs. 10 and the banker gave a gift worth Rs. 25,

()  Winning from state lottery (net) Rs. 33,500 and the cost of lottery ticket is Rs. 200
(k) Salary received from A.Co.Ltd., Rs. 1,50,000
(I)  Fees received as director of B.Co.Ltd., Rs. 1,40,000

(m) Ground rent received from leased lands Rs. 90,000.
(n) Income from undisclosed sources Rs. 2,00,000.
(0) Interest Credited in P.P.F Rs. 36,000.

(p) Winning from card games Rs. 21,000 (gross).. The cost of playing cards is Rs. 100;
sitting expenses for playing the card game Rs. 1,800. ,

(@9 Winning from Motor car Rally Rs. 5,00,000.

(r) Commission received from insurance Co. (Gross) Rs. 19,200.
& STBHR Wk, eTral 3By BI0D BOCHBHERIE. (58 LEraHiD ), Bgersan p T
00D, ABY D300 od &mraHALE B8),08080.

(a) 28y 50D 20BE B0 dEBodis &2Bock 801 19,500.
(b) lQ)«_Qg‘:mo 8008 rahd Kl 20,000 50805 SABBHNO BALrE> Bahom SsaB 8°13,100.
(€) R 50D d20BE 0d d58Boar Ry &a%ock &ro8,000.

(d)  S55nah g0 Mr0& AgEBooH &3 E150,000.

() b ar 008 N5¥BoDS &g 5145,000 HErel oY 390D Y08 S0P Ssyen &r112,000.
() #3550 2008 &g 6136,000: 3Yodis Hores SoWP Sdyev & 3,600, Sossyuen Eru800.

(8) 3% 0 Mo 86R 3830 agor o8 ©3 &rn 48,000, @6R ©38B0)e3 Ptnen
&1 500. 86A &38ays Mvan p oo & Er112,000.

(h)  20rrBE6" S55aral glmsne 08 2085 emrahswn Kr175,000.
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f

12.

(1) ergo Gareey S0k SIS éé &r°126,000 508050 ergoth o YL 5760 BeeS DdO Sorru 10 HoBatn
aPgtd K & 25 Deud Ko el SHW0 sTRET ads.

() ©e0BsE0 d85irodd ereade Hrod As¥BodHAB (DE80) drmn 33,500 Ho8okw ered 63365 pBE ¢ K200
(k) D 5o2d dBE H008 HeEBodS dwan Krwl,50,000.
1) e Sond d2BE Kol FoFE A5EBod Per 8r11,40,000.

(m) Fewdayd e 2008 AgEBod & &r190,000.

(n)  JrBre dHBHen BIAHBAHED Suredw od eorahdn &rvi2,00,000.
(0) Per ISRAS" BdeS BN dG 8r136,000.

(p)  D5ed® 2roBS wITVHS st Eroi 21,000 Dsrewe B 8 8o 100 15T eLIHE oD PE)ew
&t 1,800. '

(Q) et 5o HEY JoBB0S® HIAH wITVHS &ruS,00,000.
(r) &5 502d S00d AgEBodH KNS (Ape) Kr119,200.
Or

The following details of income have been supplied by Karta of HU.F. You are required to
compute the total income and tax of HU.F. It has deposited Rs. 10,000 in PPF.

Rs.
(a) Profit from business ? 32,000
(b) Salary received by a member of HUF 8,000
(¢) Director’s fee received by Karta : 6,000
(d) Rental value of the property let 12,000
(e) Municipal taxes : ; 600
() Bank interest 450
(g) Long-term capital gains from the transfer of building 9,500
(h) Long-term capital gains from the transfer of investments 10,000
(i) Donation to a college which is an approved institution 4,000
(G)  Profit from a firm assessed as AOP (1/4th share) 10,000

Hs (808 2dTen af Jrod edgE Kewowo &% 5 O eordd dSoven FIGWEDD. aﬁ;ﬁ.née).‘a: ol edE
He0020 B, InBo eTraDo DBy Iy 88,050 STBEPIA. 2.9.09 &° Eare3e5 D58 &ren 10,000. :

Rs.
(a) TG0 oé ergin ' 32,000
(b) ::-S.oma;.’:. $e050D HE wAD BBIN _ 8,000
(© %53 Sws'nads zogys der ' 6,000
3 (2602)
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(d)  ©p8a)d &p o3 ded | ' 12,000

(e) BoRIS Shyen 600

(H oo 5§ 450

(8) &% 38y argo SO Y IS Suredsd orgren 9,500

(h) weyetoe 58)a oo H9yS 835*05 SRS erere 10,000

(1) ‘em‘éo 2708 Bog B ErTD AYd RIS 4,000

() DD @R JaLads Sof 20d eegw (1/4 D oo T%r) 10,000
UNIT III

A, B and C are partners in a firm assessed as AOP sharing profits and losses equally. The
following is the profit and loss account of the firm.

Particulars Rs Particulars Rs.
g}fp?rf‘s‘:;fa““ri“g 9,000 By Gross Sales 50,000
E?{;;Eei;sacihShment 6,000 ggcflr;';:izesstéﬁoss) 3, 00.0
To Depreciation 3,000
To Sundry Expenses 4,000
To Salary to A 6,000
To Commission to B 4,000
To Interest on Capital :

A 1,000

B 2,000

C 3,000 6,000
To Net Profit : '

A 5,000

B 5,000

C 5,000 15,000

53,000 53,000

Compute the income of the firm and allocate it amongst its partners.

2, ® 08a5 B ev Jad e @R Dohadd K)oge‘i“ ergf dapody Sdvorr SR PriRen. S0P Sowoodd e

Mape o He (808 dgorm HHB.
ddHTAD oS T DHTCe oS
To aEn)sE DB 9,000 By dpe erto 50,000
7 To :60@;5:5' P8 6,000 (B;;;:)::gmmm - ;ﬁé 3,000
To dtHiHEse 3,000
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DHoee oS ul] dHHoren oS 1]

To 388 pEen 4,000
To A % 265 6,000
To B £ 52058 4,000
To Sare$sop G :

A 1,000

B 2,000

C 3,000 6,000 ¥
To &5 ersso :

A 5,000

B 5,000

C 5,000 15,000

53,000 53,000

R0g Bk, sErabBns 8800 28 BOR RO Sododmn.

Or

14. Bimal, Nirmal and Ashok are partners sharing profit and loss equally. The following is the

profit and loss account :

Particulars Rs Particulars Rs.
Sundry Expenses 22,000 Gross Profit 22,000
Office Expenses A G el 3,000

) (Gross)
Rent of Premises 1,000 Net Loss:
Commission to Nirmal 2,000 Bimal 7,000
Interest on Capital: Nirmal 7,000
Bimal 3,000 Ashok 7,000
Nirmal 3,000
Ashok 3,000
Salary to Bimal 6,000
Charity 1,000
Advertisement
2,000
expenses ‘
T 46,000 46,000

Calculate total income of the firm.

5 (2602)



15.

16.

D376, dHS wBatn ©F ey Spen ArvOT SoLD G, BB eres dape o e 808 dsore

DRyB.
dd5Teen & odoren
DD PO 22,000 Jye ergo
9% Pen 3,000 w&rg6ede p 3G (Speo)
5560 &3 1,000 %8 Sgo:
RS & LIRS 2,000 DS
fareso p 5 GS
BarS 3,000 &%
36&5 3,000
@5 3,000
ddorS £ Sdo 6,000
T8der 1,000
(BECAEE VMRS 2,000
46,000

éo{g GluE); IBO BTPALOoR agbom:m.
UNIT IV
What points keep in mind while assessing companies?
KD OO BRLHED D voTen GRS* HoRE H58%?
Or

e STl

22,000 -

3,000

7,000

7,000
7,000

46,000

From the following particulars, compute the total income of Z Ltd., an Indian Company.

(a) Interest on securities
(b) Business income
(¢) Interest on debentures of
(i) anIndian Paper Mills Ltd.,
(i) another Indian Company B
Compute total income of Z Ltd.,

2,000
3,00,000

50,000
20,000

84 (208 D5070 Ho0d BE OBE 2.8 HrEdAb Fobb BN, JNBO STAHOR AeHDaKVBW.

(a) wuwrgBdep 5§
(b) T8 emeao
(c) &BosY PG
(i) =odabd DB W&y dn
(i) D8 gD Kon
BE d28E Bw¥), 30Bo BEraHoD B,0BRB.

2) 000
3,00,000

50,000
20,000
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17.

18.

UNIT V

Explain the provisions of law relating to deductions u/s 80C.

NES 80 808 B0 gH Ko DYoHe HBod dHBoHHW.

Or

Explain the different kinds of assessment under Income Tax Act.

A DY Do 195PE0 DA 8570 BRI0WOR JHBOHIN.
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 (2605)
B.Com. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of Second Year)
Part Il — WEALTH TAX AND SERVICE TAX (PROCEDURES AND PRACTICE)
Time : Two and a half hours Maximum : 70 marks

SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following questions.
1% Write any five features of wealth tax.
B0DE SRy @), DD D& OFETH) EPoVRN.
2. Write a short note on Gross Wealth.
Are S05E w8 0P a‘sals EraiuN.
3. Write any five exempted assets from wealth tax.

DBR 05 HOSEHDY 06 MHFF0oDVES PO FEoVBV.

4. Explain the tax incidence under section 6.

2o 6 8o 55y 2BoHH DHBoHDHW.

5. Write any five features of service tax.

VISR BE), JBD DO VFETOR FEPoR0BN.

6. Explain the rate and charging of service tax.
Ve 980D Sy Bew d5BoHHW.
7. Define service under service tax.

PSRy ol DSk DEgDoHIHW.

8.  Write the need of imposing service tax.

VISY) DBoWL) A0S, DHBEBL [EPaoB.



10.

11.

SECTION B — (5 x 10 = 50 marks)

Answer any ONE question from each unit.

UNIT I

Explain the provisions of the wealth tax act which allows clubbing of net wealth belonging to
others in the net wealth of the assessee.

el Gk, DX B0 AW e Koot duoHe HBOD FoDE 51y By DaHETe dHB0HI?

Or'

Write a detailed note on Service Tax administrative mechanism.

DIy 80T AHOEEONOR &8 BIBBAN TR FEAID0.

UNIT II

What is Gross Maintainable Rent? How it is computed?

e doIrS € @S 3?2 G200 J dgor B 0Td?

Or

Krishnamurthy has the following assets and liabilities as on 31-3-2011 and requests you to
determine his net wealth for the assessment year 2011-12.

(a)
(b)
(c)
(d)

(e)
®
(2)
(h)

(1)

Q)

Bullion

Residential House

Farm house: situated 35km away from municipal limits
Car for personal use

Car for use by wife

Car for use by minor son finance from gifts received by him

from grand parents

Silver utensils

Shares and debentures in limited companies
Share in HUF property

He has gifted jewellery to his daughter-in-law during
the relevant previous year

Minor son received costly gifts from his maternal uncle
(gifts were made of silver)

Took a loan to purchase cars under (d) above

Compute net wealth.

3,50,000
10,00,000
9,00,000
3,00,000
2,00,000

3,00,000
1,20,000
2,30,000
4,50,000

2,00,000

1,50,000
5,00,000
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31-3-2011 % 88078 s (808 esyeigpes SOR Py 2Bk 2dRes 2011-2012 ePER00Ls Soss)Tos

B DY HoNsH) BE),05:500 §EED6.

(a) 2daHS - 3,50,000
(b) DR Ky 10,00,000
(€) T : Hfel 588 od 35 &.5. Er8os® 508 ‘ 9,00,000
(d) Rrozrds 2ASARBY) 5% 3,00,000
a5 DO ROy S 2,00,000

e 008 DD WTVRBO TR S PHE 570D

OB RoBREBIHD : 3,00,000
(e) ol dNDew 1,20,000
() 928E L0DS® Py Treren 2Bk EBoWK 2,30,000
(8) roch w0y Henowos D &St e 4,50,000
(h) X5 Sod8B0s” wBd §°¢dS sPRuEm ad)d agteren 2,00,000

(1) 6 S B Boidsrss Wod BTVRET BocET PERS BTvRBIE

(2Fododven DodE* DoHadd) 1,50,000
. G) 2D (B)S° VBYIdH 575 DB HEY) wweo | 5,00,000
DEY HoIESH B),08080.
UNIT III

Explain the deductions permitted from gross wealth for computing net wealth.

DEY J0SE8H0 BE),0DHE Bye S0 Bood BROD &) woTey DHBoHIW.

Or

What is meant by the term assets under wealth tax Act? Explain any eight items which are

deemed assets under section 4.

RD0DE By B0 (95760 &) 808 D632 VES 4 (I5°0 DD VB grDB e IHB0HIN.
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16.

17.

18.

UNIT IV

Explain the Registration procedure of Service Tax.

By SBIE HFAD DHBoYHHW.
Or

M/s G.S.Co. Ltd., provided the services to its clients. From the following particulars
submitted to you calculate service tax payable. :

Total bill raised Rs. 12,30,000 out of which includes services rendered S.E.Z developers
Rs. 1,50,000 and state bank of India (SBI) Rs. 90,000. A bill of Rs. 2,78,000 is not yet
recovered and amount of Rs. 90,000 received as an advance for the services to be provided in

the next week.
M/s G.S. Sobb d0BE T8 B VATHIEHeH oBodd W dDEHVes &e 8o diore S0, DYoBDOVD

205 SR B8),0950.

2OEFKTHOD B DD Hege Dudan dexd &r. 12,30,000, HS" (58K &8 20060S*D BTVEDH VdOR
00803 FoPE 8. 1,50,000 208k ReS w0l es$ ool 68 ©oBodd &r. 90,000 Mo deHen 0.
2D@BKTEOS" 288 D H0& 0BT &7 2,78,00000 e Sock 308ak 33y T80 Bleres” 0803 50
o eEg Sy MgEBoD s &5, 90,000.

UNIT V

Explain the procedure for valuation of taxable services.
NSy 88,0 HFAD 2580HH0.

Or

What are the new services proposed to be brought into the tax net?

Sy S0HS% 5By Aesd Liden 2206372

4 | (2605)
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B.Com. (Regular) DEGREE EXAMINATION,
MARCH 2012. :

(Examination at the end of Second Year)

Part I — ADVERTISING — II (ADVERTISING,
SALES PROMOTION AND SALES MANAGEMENT)

Time : Two and a half hours Maximum ; 70 marks

SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following questions.
1. Effect of advertising on distribution cost.

2.  Factors influencing promotion mix.

3.  Write a short note on television rating points.
4.  Direct marketing.

5.  Merits and de-merits of magazine advertising.

6.  Basic principles of agency-client relationship.



10.

11.

12.

13.

14.

SECTION B — (5 x 10 = 50 marks)
Answer any FIVE of the following questions.
Selecting ONE question from each Unit.

UNIT I

What is advertising? What are its salient features?

Audience surveys are important part of media
research. Discuss them.

UNIT II

What are emerging media trends with reference to
media marketing? : _

Explain strengths and weaknesses of broadcast
media.

UNIT III

Give the organization structure of a typical
advertising agency and discuss it.

What are the methods of compensating the agency
for is work and who do this work?

UNIT IV

What are the implications on reach, frequency and
cost influencing the choice of media?

Explain various methods of pre-testing and
post-testing.

2  (2603)

15.

16.

UNITV

Briefly explain different types of media that aid
advertising. ‘

List out the problems in reaching rural audience
and markets.

3 (2603)



13.

14.

15.

16.

UNIT IV

How to create presentation by using auto-content
wizard?

5’5080 9p TYT® - (IBOBIS ErroBodio
K809 EraR0G.

Explain about different views in powérpoint.

$55870000655°0 298 5o ;'2)155 K809 Erofod.
UNIT V

Explain features of Tally.

ed oﬂngb oEeroy 9580%0d.

Explain about company creation screen in Tally.

DS 02D BRSPS K809 9380308,

4 ' (2608)
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B.Com. DEGREE EXAMINATION,
MARCH 2012.

(Regular)
(Examination at the end of Second Year)

Part II — COMPUTER BASED DOCUMENTATION
AND ACCOUNTING PACKAGE

Time : Two and a half hours Maximum : 70 marks

SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following.
Each question carries 5 marks.

1. How to create Bullets and Numbering in
MS-Word?

00.000.58 &° B I KHKen, Howd) Jer
DR 9580308,

2.  Explain cut, copy and paste options in MS-Word.
0%0.00R.98 & &5, s HBdv DRe KBod
DHBoVOE. |

3.  Explain any five functional keys in Tally.
erdS® e 5 HodeS 85 K809 9580908.



UNIT II
4.  Explain about formatting tool bar in MS-Word.

0‘1)0.01)5.;5§e5% o830 exSerd 800 @ra0s. : 9. (a) How to create Tables in MS-Word?
00.000.385%D DSy  der  HRE’
5.  Write the steps in creating ledgers in Tally. ¥ 3
erdS® Bghosy HRoBerdd sHedd Ry K80
008 (b) How to insert and delete the rows and
: columns in Tables?

Fro0s.

6. Explain about Custom Animation in Powerpoint. &53336:36‘ De0d HHION, WEDHOION Jer
5583700006565° EPS0 ATVBOLZS 80D dHBovod. | 2R, der Sofvdr 9580508,

SECTION B — (5 x 10 = 50 marks)
Answer any ONE of the following questions selecting

10. How to create and run the macros in MS-Word?

one question from each Unit. 0%00.000.58 &° HE*R e GHRFIT DB Je
Each question carries 10 marks. 55 33;531, FeoH08. 1
UNITI -
UNIT III

7.  Explain parts of word window and explain how to

create headers and footers. 11. Write the steps for creating mail-merge.
o‘.i>o.d$.)5.:6§ 20&° errrey 9580%08 SuBasw b

300006 B0f BafnewH s%HdY0 P 80D Traod.
08050 Heabew Jer S@Er @aHod.

12. What are formatting tips and techniques in

8. Explain Find, Replace and Goto options in MS-Word?
S0 5.586% FromeS0R 35y 2Bk BEE) K8
00.005.8§6% Find, Replace 50865 Goto /0802 Siie SRivEg R pergiion S Eapatn BsRR faet
D5B0H0é. Eroiod.
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may shake? They should know much on the topic. : (2703)

They go to the bar each day. Ravi and Haggy dare '

to go on boat to reach off shore. The yellow car had B.Com. (Regular) DEGREE EXAMINATION,
a fair door. The lorry looked dirty. The body of the MARCH 2012.

lorry had much load of cargo. They may borrow

money off the Bank of Canada. A ship of America (Examination at the end of Second Year)

had to reach the shore of Kakinada today. The -

marina beach may appear differently. The bank Part 1T — COMMERCIAL CORRESPONDENCE AND

cashier may pay the difference away to the fellow, SHORTHAND
who should give the cheque. The tobacco of the
firm may catch the fire off the hay-rick. Time : Two and half hours Maximum : 70 marks

PART A — (50 marks)

(COMMERCIAL CORRESPONDENCE)
1. Answer any TWO of the following : (2 x 20 = 40)

(a) What is an order? Prepare a model of an
order form of your choice.

e eodrIW? T eff Fo DY,
BB ErrdroBoHok.

- (b) Explain the major steps and principles in
letter writing.

Dpee o8 B Erewdpdd  BoBdodI
209D R B0k JrEreRo 9580906,

4 (2703)



() What is a resume? Draft your own resume by

including all the necessary information PART B — (20 marks)
o 00N :
BrogSo R? B SHOVD Hooagdd (SHORTHAND)
DITPTT°RY) DrOBIBBEIIT® D Dgod Eﬁr”sﬁ)&) ,
3.  Answer any TEN of the following : (10 x 1=10)

HOSTE Dok, @ Revolving
(d) What is précis? Why do we need a précis? (b) Error
Explain the steps in précis writing in detail. | i ey
08D @ OHTAN? T DY), ©IITRY (d) Evolving
2580%0&. $ofS B EERLSPE. (e) Apology
. (f) Decays
2. Answer any TWO of the following : 2x5= lQ) & Ry
(a) Circular letter. (h) Ferry
5560 Ba. | () Revenge
; G) Bulky
(b) Memorandum/Memo. @ Attach
ez Do. | () Baggage
(¢) Letter of credit. 4.  Write the following passage in Shorthand : (10)

Rama and Hari go to hockey match. They watch
the game. Two Arab Sheik fellows have given
them a tea party. Hari took tea but Rama had a
coffee. Ravi, a tall chap, had also come. Do they
know the bench on which they all had the party,

2 (2703) 3 (2703)
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(d) Enquiries.

dTBen.



UNITV
15. What are the principles of life insurance?

208 PIT° B, A ESD?

16. Write the various types of marine insurance
policies.

BROSBET FoNeS'D 99¢ Sseo Eraod,

4 (2202)

(2202)
B.Com. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of Second Year)

Part II — FINANCIAL SERVICES, BANKING AND
‘ INSURANCE —II

Time : Two an_d.a half hours Maximum : 70 marks -
SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following.
1. What are the various types of bank deposits?

DD 85°0 2500 GBEID?
2.  Explain about credit card.
B&& 52 K980d :);’350%30&.
3.  Explain banker’s lien.
25088 OS5 TR0 DHBoBwH.
4.  Write the advantages of factoring.

F5560h B, [PABTeTOR Frabos.



5.  Principles of fire insurance. 10. Explain the objectives and functions of regional

rural banks.
@R Book); I Eren. )

@roB0%H ey eroHe B, oFieRn SHBdkn
6. What are the features of pass book? D05 9580508

R PIEo B, ¥erS?
UNIT III

SECIIONS = (5o S slimarts) 11. Discuss the general relationship between the

Answer any ONE of the following from each unit. banker and the customer.

eP050%)  HBakn wrErmedodd S50 prdes

UNIT I
QD0850EDB BBYoYDW.
7.  What are the functions of reserve bank of India?
FES0%H Bestiserrotd> BuE), AB? 12. What are the various types of crossing of a cheque?

DEY© S*RoReS® Ko 298 8582072
8.  Write a note on insurance sector reforms in India. '

PEBLH0S” P BoKoS® HYH Hol),Bewp &8 T§do UNIT IV
Eraod. ' 13. Explain the functions of SEBI.
UNIT 11 22 BoE); HEOR JSHBoWIB.
9. Distinguish between branch banging and unit 14. State the measures taken by the RBI to remove
banking. the weaknesses of money market.
(270D o080f  H0Batn ohordeS arofofiendn LCS:),S :)J‘Bbeg ABoE), DOIPHBOR  EoRoDEDE
2880508, PPEHAD BasBgerotd HRKT) HEER BoSod.
2 (2202) 3 (2202)
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B.Com (Regular) DEGREE EXAMINATION,
MARCH 2012.

(Examination at the end of Second Year)

Part I — PERSONNEL SELLING AND SALES
MANAGEMENT

Time : Two and a half hours “Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following.

1. Daily and periodical reports.
2. Buying'objectives.
3.  Cost of advertising Vs Cost of personal selliﬁg.

4. Differences between personal selling and

Advertising.
5.  Distribution network relationship.

6. AIDA model of selling.



10.

b 3118

12.

13.

14.

SECTION B — (5 x 10 = 50 marks)
Answer FIVE of the following questions.
Selecting ONE question from each Unit.

UNIT I

Explain the training methods of sales personnel.

What is personal selling? Explain how it is more
effective than Advertising.

UNIT II
Explain the procedure in recruiting a sales person.

How can a sales person be successful in providing
consumer services?

UNIT III

What is personal selling?‘ What are its advantages
and disadvantages?

What are buying objectives in consumer market
gnd in industrial market?

UNIT IV

Briefly explain about the different types of sales
persons. '

Explain about the following
(a) Sales manual

(b) Order desk

(¢) Cash memo tour dairy

(d) Daily and periodical reports.

2 (2607)

15.

16.

UNIT V

What is selling? Explain the steps involved in
selling.

List out the advantages and difficulties and
measures to make selling as an attractive career.

3 (2607)



